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Chemistry (New Scheme) Paper: II ((:)U'lb/ T dpdu’.ﬁ) 220 II 24 (("Ff) df'{
Time: 1:45 Hours (Group: I) « Subjective (jﬁ'l (vsfﬂ;;) & 145 125
Marks: 48 &7",0— &r-30 48: 7
A ofp Lotr () n Fe B e ilie o
Note: Section L is compulsory. Attempt any two (2} questions from Section II.
. Section - I d‘:‘f.b [
- 2 - Write short answers to any FIVE (5) questions.  (5x2=10) _é’;fau.e/‘?ﬁ Ul (5) é be J:(- 2
i Why equilibrium state is attainable from either way? e Lo = LASST e SEAsE
ii - What is meant by extent of reaction? fe oty "u’;_, e Jo«i’:’ldj -1
ii-  Write down the equilibrium constant expression & ﬁ/;’-"-/f ..bfpfﬁf/l;gl .’é”’y‘ﬁgld.r_dj Gy -iil
for the following reactions: g
Hyp+ 1y —=——= 2H], H, +%, ¥+ 2Hl,
00+ 3ty === CH, ¥H O, QN T CH, +H,0,,
iv- Define chemical equilibrium state. Y RO P 11 A
v - Define lewis acid and lewis base, ~£».ﬂ/’ f;,*:’;_é iy -y
vi - Describe the method of prevention from hyper acidity. e w 4% éf e dkf;"; -vi
vii- Define conjugate acid and conjugate base. g S A s EE i
~@ vili- Write down the limitations of bronsted - Lowry concept. SEE Y e S LG s i

3 - Write short answers to any FIVE (5) questions,  (5x2=10) _égf:.[.l.z/yﬁ = i (5) é k & Jf- 3

s 1- Whatis the percentage of carbon in peat and anthracite? e l_f-'/ éc:‘: J.,—,i;(uf <AL ff# YIRS
ii - Give two uses of organic compounds. ' & ey L IREELT i
« iii- Write down the structural formutae of acetone and AL JA L S Qs i i
trimethylamine.
iv- What are close chain hydrocarbons? Give an example. & JE LSt UK i iy
V- Wﬁte.down the formulae of oxalic acid and carbon tetrachloride.  _&¥ J_».6 & “uﬁ 2 i sl 2210 ST v
vi- What are monosaccharides? Give an example. S Je L S St Lfﬁ;:’l)")y‘ -vi
vii- Write down two uses of carbohydrates. A ey L JEJin,M - vid
viii - Give a source and a use of lipids. -2 e Lost o LKL - viii

4 - Write short answers to any FIVE (5) questions.  (5x2=10) _;égf_-,ugﬁ?z:@mr (5) é ke 4 -4

i- What threats are to human health due to SO, gas = Wie J; 50, (#L 2o Ly i
as air pollutant? . ot Ui B
ii- Whatis meant by atmosphere? e dplfc g9 i
iii - What are primary and secondary air paliutants? e olp k(c:.. u’p).;/ff Skl ol d/flg ~1it
iv- Write down two disadvantages of hard water. “E et L 03 -iv
. v- How does limestone dissolve in water? ' e bn L)“'d:/%' 2 J; -y
vi- Differentiate between minerals and ores. ' L& 3 (Ores) sl s (Minerals) 2# - vi
. vii- How ammonia is recovered in the Solvey's process? e b V'S ot df St S -vid
viii - Write down the uses of petroleum gas. J‘,é g]’ e - L Jf (‘3:,;*@ - viii
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Section - IT (42

5 - ' (a) Define equilibrium constant. How the extent of (65) JHJIKz gg_{qﬁd’gﬁ-’féjﬁ,{f (W g
reaction can be predicted with the help of vaiue 73 13*-? J 4 dfu? J» g Uig‘ 15 i
of K,.
(b) Write down four specific characteristics of bases. (4) _ A e S (L)

6 - (a) Define hydro carbons. Also explain the difference (5) et 5 st Mo ) é.&!ﬁd’;ﬁ;h;% () _ 6
_between saturated and un-saturated hydrocarbons ..g»f 8" e UPE 3P y L
with examples.

(b) What are carbohydrates? Write down the names (4) e et St 54 4"’[ & J‘:‘,‘*ﬁ;,f_;{ (&)

_ of their types with one example of each. & Ji u(.{l;
7 = (a) Explain the process of smelting. (5) el §SL B Ly 7
) Exptain the water pollution because of industrial (4) wf—zj’.: oo J:f, Sy o oz oL AH (L
waste,
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Chemistry (New Scheme) Pa per: II (ﬂ' VUL L d,ﬁ Suk£) 220 - (I1I) II ¢
Time: 16 Minutes (Group: II) Objective (%> (2 tns)
Marks: 12 Code; 7486
L i ey, s s sl é’:{_) &L iy, < QKL}&? -(..[_?éé..: DocC B Az 0

K e 2 dh S e 1S SR LS
1. 1. Formulaofureais

NH,CONH, (D) NH,CONH, (C)

2- Which one of the following disease causes
liver inflammation?
hepatitls u"’ct‘,,-- (D) cholera .z (C)
3 - Acid rain affects the aquatic life by cloging fish gilis
because of _
chromium metal ¥ rﬁ-’;f (B)
aluminium metal &5 (D
4 - Temperary hardness is because of
MgS0O,; ) MgCO, (©)
5-  Which one the following is reducing sugar?
Cstarch ok (D) succrose s f ©
6 - Thousands of the amino acids polymerize to form

S Usls ot o SAS-LTy P 3

-~
NH,COONH, (B) ;COONH, (a

fe J‘w K‘Jird, 417 o’fﬂ:_ s Jits

jaundice (G, AB) typhoid Jsust (A)
LTAEL G B Soip it gt

‘e J/}rz/u};;,}?

lead metal Y (A)
mercury metal Ja'wf/ {C)
R ot o 2 Lfdft}{b{, 74
CaCO, (g Ca(HCO,), (A)
e Bobyt. e W
maltose 7L (B) glucose /¥ (A)
kS A AR s r

proteing ;i:f:{ (B) carbohydrates u’:';&ﬂ-x;bf (A)
P S IS (Akenes) s

e re

dehydrogenation /*¥, k2,53 (A)
dehydration u,r"-uj_;_tdj {C)

8~ The strong heating of coal in retorts in tfe absence & (f SRl en S L J)ﬁy‘rx S in
of airis called ' S
sublimation| ,*" (g, fractional distilation 4"} /%3 (a,
destructive distillation 3% (D) roasting & (C)
9~ The product of Lews Acid-Base reagtion is called Adduct. 2 Ufut oS P o2 s
The bond between the adduct specie is e bn
covalent sk (B) onic  £#T (a)
co-ordinate covalent | k. <257 ) metallic i+ (C)
10 - Dilute acids react with carbonates to produce the S T u’l‘fld/ PV 'S Sl L
given products except. 0t _*/j,{ UWe
water (it (B) ‘ sat &b (&)
hydrogen /%74 D) carbon dioxide ATk (C)
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“2.
11 - The characleristics of reversible reactions are & ..{! -l '-"-'E"’ﬁ J ,:E Koo osds -11g
the following except: W 1%,
products never recombine to form reactants  Zk ..ff pakiaiSal 6wk u"fb{
they never complete 5 HEIE d’!;. (8)

they proceed in both ways:  of L Ol L& ILM Ud o (C)
they have & double arow between reactants and products Jf &s1,¢ssiin L L,r:(b.; syt LR (D)

12 - Reactions which have compareable amount of reactants g L,r‘ri:,; slodidSligs 8 o A & -12
and products at equilibrium state have Lo S EASE S i Fus ¥ e

very large Kcvalue & J:: Sy a-«{..é‘; 'JIKc (B} very small K¢ value & (3.« dﬁ:u‘/ ey Lf K¢ (A)
none of these .,;’.fdf.:.. ;,.C Wt (D) moderate K value &~ J;z (3?» s JKC (C)
120-(111)-220-76000

L

£ .
]
i




Chemistry (New Scheme)
Time: 1:45 Hours
Marks: 48

Paper: II
(Group: IT)

e Lgﬂb’ (2) » J(; o -q.dxﬂdjf.» o

(Ul dled JFGE) 220 11 34 £ g
_ Subjective dei (oo ) E 1452

48:

. Note: Section Iis compulsory. Attempt any two (2) questions from Section 1L

‘2 - Write short answers to any FIVE (5) questions.

i- How is dynamic equilibrium established?

Section - I d;i 2
2x5=10) -2 fcpz ALy (5) é fe df-2
e rx(:cﬁ"}dﬁj-h i |
(-':‘.:. 'J"’L-(,_,—- sl U’IUJAF JL}’CF -1 ‘I..‘\

1 - What is relationship between active mass and rate of

reaction?
iii - Why at equilibrium state reaction does not stop?

iv - Define a complete reaction.

v - What is meant by neutralization reaction? Give an example.

vi- Write down two uses of sodium chloride.
vii- Define conjugate acid and conjugate base.
wiii - Why pure water is not a strong electrolyte?
3 = Write short answers to any FIVE (5) questions.

1- How did Wholer prepare urea? Give its equation.

* 11- Give the condensed and structural formulas of C.H, -

ii- What is functional group? Give an example.
-~ ¢1v- Which functional groups are present in alkenes
and alkynes?
v~ Write down any two sources of alkenes.

vi- Write down the structural formula of glucose?

vii - Write down two disadvantages of fat soluble vitamins.

viii - What does DNA stand for?

" 4 - Write short answers to any FIVE (5) questions.

-i - Why CO, is called a green house gas?
i1 - Why the flood risks are increasing?
ii - Write down two effects of ozone depletion.
iv - Explain the disease cholera.
v - Define hard water.
vi- Define metallurgy.
vii- Whatis the principle of Solvay's process?
viii - Describe the formation of petroleum.

(&10.s)

007 O SO e S EASE - i
Ay T S
&Lt e SIS FA v
8 el L SE v
S ol s A i
P U e BP0 L AL - vini
Z ez Loy 5)éie OF-3
e Sl Lyl b i
@ s St 4L CH -
Blbte ape ol P i,
252 (Akynes) 71 1 (Alkenes) A iy
St Lxiany J—.}fﬁg
- e (L (Alkenes) ,fu' v
Ly A i
el sy Loty S el -wii
‘e ¥ 7 0 DNA - vii

(2x5=10)

(2x5=10) -2 fellz Bl iy (5) & fe df-4
te tb Yud AUty /Y CO, i
St esond B i -ii
_ﬁgf;«lfl 0wl 6L s -
-2 el Jkdar v
E
_2E w7 Metallurgy) G2 - vi
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e Lo o s i
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Gy.r/ (/2 6 r o Section - IT (4 .o

5 - (a) State law of mass action and derive an expression

for equilibrium constant for given reaction:
aA+bB T—=——= cC+dD

(b) Explain Lewis concept of acid and base.

6 - (a) Write down two methods for the preparation
of alkanes.

(b) Describe the uses of lipids.

7 ~ (a) Write down a note on fractional distiilation
of petroleum.
(b) Explain four important waterborne diseases,

How can these be prevented?
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